20 17EFF-XZLhh—F i niK =8 IZF5ZNIZb

78238 (B)

IR N o W RS1)N—-% Bl B =) HDC | AEHDC
NF2 1 te=mE—BR | RE#0ES2000 AP1 =]
2 AFEN LI RI-R KAS8 =
3 33 ($<&5 F-LFITHEZB TN 277231 2)VIN—
4 EDK FHBRHTHSBRZ ZC6 B 0.5
5 IR BT |NOAYE O—RAS—RHT NCEC 141I0- 1.5
6 BHE BE  |SkyZETWHRX-8 SE3P =] 1.5
FM 7 #HH@impactblue|HH0D~¢E DAA-GP3 B -2
8 R AR |UrAUesRREUT b GD1 5 -2
9 ME#AXREE | 7/VULR500 ABA-312141 =]
10 EBZE EFE |/-hnEh-— Ell iR -2
11 BEEE |TSALL-N-FTA DESFS JL—
12 JIHE EA BHEERI>Y - CS5A =] -2
13 D55 A WBDATT Ay b CE4 Fh -2
14 57 HPZ IRCDTEBLD L880OK ] -1
15 fRHE—& AT BAUdi 8KCGWF =2 -2 2
SF1 16 RARME UTACE>YOLEY AE111 =]
17 D Ivt 11 L235S IIN— -2
18 TOMMY FAAY 1 SE/))Y- | JN15 =]
19 RS5XBA36 |[RSIEARLZR ZC32S H
20 KE =F AA—Lwh KP612& iR 1
21 IMEE Jt— [3559-R L700S =] -1
22 (FFL5 =IE{AYAANAY, HA21S =] -1 1.5
23 ZFELL Jeiez5 @ BENIEIL L700S 5 -1 1.5
SF2 24 36 FLOME | OOBPATILEY S15 =]
25 JREB  |2.21-X 127935 DC2 =]
26 EI-IXHE |®TFCIVIC FD2 =]
27 HIZEFRT ¢ |BRANDEUMR2 sw20 =]
28 mHFEN T34V =1 X ATABAS51> ER34 JL—
29 BH EE [55%—-brd ZC6 H
30 WhWeLD?  |iBES LAO—-RAF— NB8C Ui
31 Tlipesws |2Enay-v GH-111 =2 0.5
32 Holg~ S Ew DXLYUJ\EVUR EG6EX 5 1
33 3 INEY S |F-LAFET-EDITULS | 777231 F>
34 hiro BERRFAILLEYY ABA-FD2 =] 1.5
35 LA &8 NUTEC io )Lk Z27AG iR 1.5
36 24 FLOBE |ZHTIIET S15 =]
SF3 37 [ AE S BMNFATIRG CPOA =]
38 %50 1% T -specAF3 RN2 & -2
EXNY 39 YwTallAR  (N—F>ThT1hSRw45 N = 12
40 minon Elise S-CR 1117 = 5
41 LE 8 YALSA 1>57vH 2017 PD300L B &5
FUsHT| 42 BK —58= 4> FLvHGRB GRB =]
43 &= #0582 7-O0Yby74 I W2 JW2 S2IAC -2
44 U525+ BEWIEDOBFWNIIR NZE121 = -2
45 mIIEE |3k Z27AG D212
46 pUEp ZERN  |EERSIA-S P12 )VIN— -2
47 WEEE | KHERIRS— ABA-98720 =] 0
48 hab>-3-vwh4=—| F23—206 GH-T16RG X -2
49 t&L RNIOR R L880OK JY-> -3




20 17EFF-XZLhh—F i niiK =8 IVFSPNId 7HA3H (H)

D32 | No W RSAN—% B B = HDC [ABHDC

Al 50 <ok 7VI\1 > ioFE2ELEFIT GK5 =
51 LI <F NB6C@A%FHZ NB6C 5
52 7 1 SYRFA NINO—-RRS— NB6 =
53 EHBEA  |REUYY DEE DIEYIBS EK9 L3
54 R ME  |G-proBZE/CY1> EC22S =] -2
55 WA BZ |[E-2NTA-Y—-FA DES5FS = 0
56 Fspld H0-N\—KEBJL{FH -k PP1 = -1
57 14 aqu IR>DTEEBLOD L880K = -1
58 >y FUHERG (U4 A KK3 2

A2 59 ohvvT [\ BFOMR2E SW20 =
60 RBEFA IRSO~FTINGO—RRY— NDERC JL—
61 [SESS RERREERFEIT(>TI5 E-DC2 =
62 ApEE |RABBESHIET(CTIS DC2 =
63 A B |OINLRA ROOVEER CF4 Ficy
64 IR HE [TV -O1ORAeIIET S15 =
65 IBE & |pHh ! 1—-/Z0—-RR5— NASC =
66 EKIE | EDRO—RRI—0RE> NBSC >
67 JAVANtS] MR2 U055 1 | SW20 >0
68 NE B |FUIR FEBET 0-R25— NCEC 2
69 IR 1'E |EW>TI5 DC?2 =
70 ZEfoA AL —2AIREAMR2 SW20 =
71 METESR  |JIHL%SANKOL>TIS DC2 =
72 WH FME  [KDEL>FCB DC2 =
73 NE—B  |41>79J5 DC2 =
74 WEASRED | ICC@3EINTHREMR2 SW20 Vil

A3 75 Al B |F9ENWRX STI VAB =
76 EN@IRIAR  |3EER Y- D CT9A Vil
77 ADIDBUSA |1>TLyB@5—X4FH) GDB 5
78 fH &— [AZULSYY-X CZ4A =
79 Hif = UNEUFRS Y — CT9A =
80 EAR R |CIEEEEBRSI Y251 CT9A =

EX 81 K, T EHYT hTF—) EA11R Fic) -2
82 At EE | YHEBESOZAINTGK ZC32S = 1
83 55%<3—t |fRFEZ(FEOIXLAI LYY EK9 = 2
84 b AZ2AA0SIR N 10FT)35 DC2 KA4FI 2
85 DYV vs. TUBRIELA>TH'5 DC2 = 2
86 8= K— |PBRIUSZEDXLA>THS DC2 =
87 ¥ 34%% |NUTECIOYH>Ew 35 FD2 NUTEC 2
88 r28fk  |EXM BRZ ZC6 =] 2
89 B#Es  |DLT23 Y- CT9A = 1.5
90 HGE®OE  |DLIIALFRTA>ILyY GDB =| 1.5




